| ST. CHARLES PARISH | PLANT ENTERPRISES PRODUCTION |
|--------------------|------------------------------|
|--------------------|------------------------------|

| | Number of | | Yield per | | Total | Units of | Gross Farm |
|-------------------------------|-----------|---------|-----------|-----------------|------------|------------|-------------|
| Crop | Producers | Acres | Acre | | Production | Measure | Value |
| FORESTRY | | | | | | | |
| Pulpwood | | | | | | | |
| Hardwood | | | | | 7,230 | cords | |
| Pulpwood (Total) | | | | | 7,230 | | |
| Saw Timber | | | | | | | |
| Hardwood | | | | | 158,254 | board feet | |
| Saw Timber (Total) | | | | | 158,254 | | |
| Total Pulpwood, Chip & Saw, | | | | | | | \$571,284 |
| Saw Timber FOB Mill | | | | | | | |
| Total Forestry Stumpage | | | | | | | \$209,840 |
| (Total) | | | | | | | |
| Forestry (Total) | | | | | | | \$571,284 |
| FRUITS | | | | | | | |
| Citrus | | | | | | | |
| Navels | * | 3.0 | 285.00 | | 855 | bu. | \$17,100 |
| Satsumas | * | 2.0 | 115.00 | | 230 | bu. | \$4,600 |
| Other Citrus | * | 3.0 | 185.00 | | 555 | bu. | \$11,100 |
| Citrus (Total) | | 8.0 | | | | | \$32,800 |
| Fruits (Total) | | 8.0 | | | | | \$32,800 |
| GREENHOUSE VEGETABLES | | | | | | | |
| Tomatoes (Total) | * | 2,625.0 | 3.00 | Yield / sq. ft. | 7,875 | lbs. | \$10,631 |
| Greenhouse Vegetables (Total) | | 2,625.0 | | | | | \$10,631 |
| HAY FOR SALE | | | | | | | |
| Grass (Total) | 12 | 4,400.0 | 2.00 | | 8,800 | tons | \$813,120 |
| Hay for Sale (Total) | | 4,400.0 | | | | | \$813,120 |
| Home Gardens (Total) | 3,294 | | | | | | \$658,800 |
| NURSERY CROPS | | | | | | | |
| Floraculture & Bedding | * | | | | | acre | \$3,750,000 |
| Plants (Total) | | | | | | | |
| Woody Ornamentals (Total) | * | | | | | acre | \$20,000 |
| Foliage Plants (Total) | * | | | | | acre | \$30,000 |
| ST. CHARLES PARISH | | | | | | | |

PLANT ENTERPRISES PRODUCTION

| | Number of | | Yield per | Total | Units of | Gross Farm |
|--------------------------|-----------|---------|-----------|------------|-------------------|-------------|
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| Nursery Crops (Total) | | | | | | \$3,800,000 |
| PECANS | | | | | | |
| Improved (Total) | * | 3.0 | 100.00 | 300 | lbs. | \$390 |
| Native (Total) | * | 3.0 | 70.00 | 210 | lbs. | \$200 |
| Pecans (Total) | | 6.0 | | | | \$590 |
| SUGARCANE | | | | | | |
| Raw Sugar (Total) | * | 1,854.0 | 6,370.00 | 11,809,980 | lbs. | \$1,417,198 |
| Molasses (Total) | | 1,854.0 | 191.00 | 354,114 | gal. | \$70,823 |
| Sugarcane (Total) | | 1,854.0 | | | | \$1,488,020 |
| Sweet Potatoes (Total) | * | 3.0 | 260.00 | 780 | bu. (50 lbs.) | |
| VEGETABLES | | | | | | |
| Beets (Total) | * | 45.0 | 258.00 | 11,610 | doz. bunches | \$81,270 |
| Broccoli (Fresh) (Total) | 7 | 12.0 | 340.00 | 4,080 | cartons (20 lbs.) | \$81,600 |
| Cabbage | | | | | , | |
| Fresh | 8 | 33.0 | 525.00 | 17,325 | sacks (50 lbs.) | \$155,925 |
| Cabbage (Total) | | 33.0 | | | | \$155,925 |
| Cantaloupe (Total) | 6 | 7.0 | 145.00 | 1,015 | cartons (40 | \$17,691 |
| | | | | | lbs.) | |
| Carrots (Total) | * | 2.0 | 340.00 | 680 | doz. bunches | \$4,760 |
| Cauliflower (Total) | 7 | 9.0 | 325.00 | 2,925 | cartons (20 | \$58,500 |
| Cucumber | | | | | lbs.) | |
| Fresh | 8 | 6.0 | 430.00 | 2.580 | bu. (50 lbs.) | \$46,440 |
| Cucumber (Total) | - | 6.0 | | _,, | (2.2.2.7) | \$46,440 |
| Eggplant (Total) | 9 | 6.0 | 520.00 | 3.120 | bu. (33 lbs.) | \$62,400 |
| Garlic (Total) | * | 2.0 | 1,900.00 | 3,800 | | \$19,000 |
| Irish Potatoes | | 2.3 | 3 | 2,000 | | , ,,,,,, |
| Fresh | * | 6.0 | 185.00 | 1,110 | cwt. | \$38,850 |
| Irish Potatoes (Total) | | 6.0 | | , | | \$38,850 |

| VEGETABLES | | | | | | |
|-----------------------------|----|-------|----------|--------|----------------|-------------|
| Mirliton (Total) | * | 1.0 | 1,900.00 | 1,900 | lbs. | \$5,700 |
| Mustard (Fresh) (Total) | 9 | 7.0 | 675.00 | 4,725 | doz. bunches | \$33,075 |
| Okra (Fresh) (Total) | 7 | 5.0 | 420.00 | 2,100 | bu. | \$63,000 |
| Green Onions (Total) | * | 3.0 | 650.00 | 1,950 | lbs. | \$5,850 |
| Peppers | | | | | | |
| Bell | 9 | 7.0 | 800.00 | 5,600 | bu. (28 lb.) | \$112,000 |
| Peppers (Total) | | 7.0 | | | | \$112,000 |
| Pumpkin (Fresh) (Total) | * | 24.0 | 90.00 | 2,160 | cwt. | \$54,000 |
| Shallots (Total) | 8 | 6.0 | 980.00 | 5,880 | doz. bunches | \$41,160 |
| Spinach (Fresh) (Total) | * | 3.0 | 115.00 | 345 | bu. (25 lbs.) | \$8,625 |
| Squash (Fresh) | | | | | | |
| Yellow Squash | 7 | 5.0 | 200.00 | 1,000 | bu. (45 lbs.) | \$22,500 |
| Zucchini Squash | * | 1.0 | 185.00 | 185 | bu. (45 lbs.) | \$4,163 |
| Winter Squash | * | 2.0 | 90.00 | 180 | bu. (45 lbs.) | \$2,700 |
| Squash (Fresh) (Total) | | 8.0 | | | | \$29,363 |
| Sweet Corn (Fresh) (Total) | * | 8.0 | 700.00 | 5,600 | doz. ears | \$19,600 |
| Tomatoes (Field) (Total) | 10 | 16.0 | 1,355.00 | 21,680 | lugs (20 lbs.) | \$433,600 |
| Turnips (Fresh) (Total) | 6 | 4.0 | 540.00 | 2,160 | doz. bunches | \$15,120 |
| Watermelon (Total) | * | 3.0 | 60.00 | 180 | cwt. | \$1,440 |
| Vegetables (Total) | | 223.0 | | | | \$1,388,969 |
| TOTAL ALL PLANT ENTERPRISES | | | | | | \$8,764,214 |

ST. CHARLES PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

| | Number of | Units of | | Total | Units of | Gross Farm |
|------------------------------|--------------------|------------|-----------|------------|----------|-------------|
| Fisheries | Producers | Production | | Production | Measure | Value |
| FRESHWATER FISHERIES | | | | | | |
| Crawfish (Wild) (Total) | 24 | | | 4,119 | lbs. | \$3,189 |
| Freshwater Finfish (Total) | 110 | | | 179,151 | lbs. | \$94,144 |
| Freshwater Fisheries (Total) | | | | | | \$97,333 |
| MARINE FISHERIES | | | | | | |
| Shrimp (Total) | 44 | | | 34,416 | lbs. | \$78,572 |
| Crabs (Total) | 140 | | | 3,293,207 | lbs. | \$2,238,393 |
| Marine Fisheries (Total) | | | | | | \$2,316,965 |
| Alligators (Wild) (Total) | | | | 9,172 | ft. | \$229,313 |
| HUNTING LEASES | | | | | | |
| Waterfowl (Total) | * | 290 | No. Acres | | acre | \$14,500 |
| | | | Leased | | | |
| All Other Game (Total) | 10 | 4,400 | No. Acres | | acre | \$30,800 |
| | | | Leased | | | |
| Hunting Leases (Total) | | | | | | \$45,300 |
| Honey (Total) | * | 150 | No. Hives | 6,810 | lbs. | \$6,129 |
| TOTAL ALL FISHERIES & WI | LDLIFE ENTERPRISES | | | | | \$2,695,039 |

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Number of Units of Gross Farm Total Units of Animal Producers Value Production Production Measure CATTLE & CALVES Steer Calves 300-400 lbs. 18 head \$8,948 400-500 lbs. 20 head \$11,156 500-600 lbs. \$9,183 15 head 600-700 lbs. \$16,497 24 head Steer Calves (Total) \$45,783

| CATTLE & CALVES | | | | | | |
|---------------------------|----|-------|-----------------|-------|----------------|-------------|
| Heifer Calves | | | | | | |
| 300-400 lbs. | | | | | head | \$59,596 |
| 400-500 lbs. | | | | | head | \$78,266 |
| 500-600 lbs. | | | | | head | \$341,082 |
| 600-700 lbs. | | | | 765 | head | \$509,582 |
| Heifer Calves (Total) | | | | | | \$988,526 |
| Yearling Cattle | | | | | | |
| 600-700 lbs. | | | | | head | \$146,177 |
| 700-800 lbs. | | | | 420 | head | \$299,093 |
| Yearling Cattle (Total) | | | | | | \$445,269 |
| Cow-Calf Pairs (Total) | | | | | pair | \$323,071 |
| Cull Cows (Total) | | | | 1,030 | | \$389,598 |
| Cull Bulls (Total) | | | | 170 | head | \$143,744 |
| Cattle & Calves (Total) | 26 | 4,770 | No. Cows | | | \$2,335,992 |
| HORSES | | | | | | |
| Brood Mares | | | | | | |
| Show Horses | 6 | 14 | No. Brood Mares | 4 | head | \$16,000 |
| Recreation Horses | 19 | 23 | No. Brood Mares | 4 | head | \$6,000 |
| Brood Mares (Total) | | | | | | \$22,000 |
| Stud Fees | | | | | | |
| Show Horses | | 3 | No. Stallions | 16 | mares bred | \$24,000 |
| Recreation Horses | | 4 | No. Stallions | 15 | mares bred | \$7,500 |
| Stud Fees (Total) | | | | | | \$31,500 |
| Show Horses (Total) | 6 | | | 11 | head | \$55,000 |
| Recreation Horses (Total) | 21 | | | 26 | head | \$39,000 |
| Horses (Total) | | | | | | \$147,500 |
| POULTRY | | | | | | |
| Edible Eggs (Total) | * | 38 | No. Hens | 190 | doz. eggs sold | \$136 |
| Poultry (Total) | | | | | | \$136 |
| GOATS | | | | | | |
| Show Goats (Total) | | | | 7 | head | \$1,750 |
| Slaughter Goats (Total) | | | | 4 | head | \$500 |
| Cull Goats (Total) | | | | 3 | head | \$195 |
| | | | | | | |

ANIMAL ENTERPRISES PRODUCTION

| Animal | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
|---------------------------|---------------------|------------------------|---------------------|---------------------|---------------------|
| Goats (Total) | * | 16 No. Does | | | \$2,445 |
| SWINE | | | | | |
| Show Pigs (Total) | | | 11 | head | \$3,080 |
| Slaughter Hogs (Total) | | | 8 | head | \$962 |
| Culls (Total) | | | 3 | head | \$480 |
| Swine (Total) | * | 6 No. Sows | | | \$4,522 |
| EXOTIC ANIMALS | | | | | |
| Deer/Antelope (Total) | * | 165 No. Animals | 120 | head | \$15,600 |
| Exotic Animals (Total) | | | | | \$15,600 |
| TOTAL ALL ANIMAL ENTERPRI | SES | | | | \$2,506,194 |

ST. CHARLES PARISH \$13,965,447